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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

Model Question 

Multimedia & Web Technology 

I.A., I.Sc. & I.Com. – (OPT) 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mŸkj iz=d ij viuk iz’u iqfLrdk Øekad ¼ 10 vadksa dk½ vo’; 

fy[ksa A 

Candidates must enter his/her Question Booklet serial no. (10 digits) 

in the OMR, Answer sheet. 

2- ijh{kkFkhZ ;FkklaHko vius ’kCnksa esa gh mŸkj nsa A 

Candidates are required to give answer in their own words as far as 

practicable. 

3- nkfguh vksj gkf’k;sa ij fn;s gq, vad iw.kZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gS A 

15 minutes of extra time has been allotted for the candidates to read 

the questions and follow the instructions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS] [k.M&v] ,oa [k.M&c A 

This Question paper is divided into two sections… Section-A & 

Section-B 

6- [k.M&v esa 70 oLrqfu"B iz’u gS] ftuesa ls fdUgha 35 iz’uksa dk mRrj nsuk vfuok;Z 

gSA 35 iz’uksa ls vf/kd dk mŸkj nsus ij izFke 35 dk gh ewY;kadu gksxkA 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Marks - 70 
iq.kkZad & 70 

329 
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izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mŸkj nsus ds fy, miyC/k djk;s 

x;s OMR mŸkj&iz=d esa fn;s x;s lgh fodYi dks uhys@dkys ckWy isu ls izxk<+ 

djsaA fdlh Hkh izdkj ls OgkbVuj@rjy inkFkZ@ CysM@uk[kwu vkfn OMR mŸkj iz=d 

esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each carrying 

1 marks. Darken the circle with blue/black ball pen against the 

correct option on OMR, Answer sheet provided to you. Do not 

use any type of whitener/ Liquid/ Blade/ Nail etc. On OMR 

Answer sheet, otherwise the result will be invalid. 

7- 

  

In Section-B, there are 20 short answer type questions, each 

carrying 2 Marks, out of which any 10 questions are to be 

answered. Apart from this, in this part there are 6 long Answer 

type Questions, each carrying 5 Marks, out of which any three 

Questions are to be answered. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx oftZr gS A 

Use of any type of electronic appliances is strictly prohibited. 
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Section- A (Objective Type Questions)

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds pkj fodYi fn, x;s gSaA ftuesa ls ,d 

lgh gSaA vius }kjk pqus x;s fodYi dks OMR&’khV ij fpfUgr djsaA fdUgha 35 

iz’uksa dk mÙkj nsA           (35 x 1= 35) 

Question No.- 1 to 70 each question has four options, out of which 

only one is correct. You have to mark your selected option, on OMR 

sheet. Answer any 35 Questions.     (35 x 1= 35) 

1. MPEG dgykrk gS A 

What does MPEG stand for ? 

A. Moving picture experts Group   

B. Motion picture editiors Group  

C. Motion picture experts Group     

D. Movie picture experts Group 

2.  HTTP VªSfQd ds fy, fMQkWYV TCP/IP iksVZ -------------- dk mi;ksx fd;k tkrk gS A 

 Default TCP/IP port ………. is used for HTTP traffic. 

  A. 192. 168. 1. 1   B. 8080 

  C. 1433     D. 80 
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3.    &&&&& xfr’khy cnyrh osclkbV cukus ds fy, mi;ksx dh tkus  okyh  osc 

 fodkl rduhdksa ds ,d la;kstu gSA 

 -------------- is a combination of web development technologies used to

  create dynamic changing website. 

A. DHTML    

B. HTML 

C. HTML with jave script   

D. XHTML 

4.      A ------- ,d fo’ks"k VkbiQsl ifjokj ls lacaf/kr ,dy vkdkj vkSj ’kSyh ds ik=ksa 

 dk ,d laxzg gS A 

A --------- is a collection of characters of a single size and style belonging 

to a particular typeface family. 

A. Font    B. Style 

C. Tab    D. Toolbar 

5. fjdkWfMax ds lkeus ls ckbZ vksj ds fjDr LFkku dks gVkus dh izfØ;k dks &&&&& 

dgk tkrk gS A            

The Process of removing left side blank spaces from the front of recording is 

called ………… 

A. Digital signal Processing   B. Re sampling 
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C. Splicing     D. L - Trimming 

6.   baVjusV ,Dlsl ds fy, dkSu lk vko’;d gS A 

  Which one is essential for Internet accesss. 

A. Switch    B. Gateway  

C. Hub    D. Ethernet card 

7. fdlh rRo dh ì"BHkwfe dk jax cnyus ds fy, mi;ksx dh tkus okyh CSS esa 

fo’ks"krk -------- gS A 

The Property in CSS used to change the background color of an 

 element is ……….. 

A.bgcolor    B. background - color 

C. Color    D.All of above. 

8. fuEufyf[kr esa ls dkSu vadxf.krh; ladkjd ugha gS\ 

Which of the following is not an arithmetic operator ? 

A.%     B. / 

 C. mod    D. <  

9. fuEufyf[kr esa ls dkSu ,d fjys’kyuy vkWijsVj gS \ 

Which of the following is a relational operator ? 

A. /     B. ++ 
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 C. mod    D. <  

10. dkSu lk usVodZ de nwjh iznku djrk gSA 

 Which network provide short distances. 

A. LAN     B. MAN 

C. Single User PCs   D. WAN 

11. vkslhvkj dk eryc ----------------- gSA 

 OCR, Stands for………… ? 

A. Optical character Recognition 

B. Optical client Recognition 

C. Optical content Recognition    

D. Optical Customer Recognition 

12. dkSu lk vksiu lkslZ lkW¶Vos;j ugha gS \ 

Which one is not an open source software ? 

A. Linux    B. PHP 

C. MY SQL   D. Photo shop 

13.  &&&&&  ,d osclkbV dks mi;ksxdŸkkZ dh e’khu ij tkudjh laxzghr djus  

  dh vuqefr nsrk gSA 

--------- allow a web site to store a information on the user’s machine. 
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A. Copy right    B. Crackers 

C. Cookies    D. Session 

14.  ------------- lkW¶Vos;j ,d mi;ksxdŸkkZ dks vU; lkW¶Vos;j ds lkFk iquZizdk’ku ;k 

 ,dhdj.k ds fy, L=ksr dksM dks la’kksf/kr djus dh vuqefr nsrk gSA 

………..Software allows a user to modify source code for 

republishing or integration with other Software. 

A. Free  

B. License 

C. Freeware    

D. Open source 

15. Mk;ukfed osc izksxzkfeax ds fy, dkSu lk vko’;d gSA 

 Which one is essential for dynamic web Programming. 

A. A Function   

B. A Handler 

C. A Process   

D. A Script 

16. ,echih,l dk eryc gSA 

 Mbps Stands for ? 
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A. Megabits per seconds  B. Mega per seconds 

C. Both (A) and (B)   D. None of the above 

17. ,d esxkckbV ¾ ------------------- A 

One megabyte = …………… 

A. 1024 kb    B. 1024*1024 kb 

C. 1050 kb    D. 1080 kb 

18. Vhlhih @vkbZih dk eryc gSA 

TCP/IP stands for. 

A. Transmisssion control protocol/ Internet protocol    

B. Transmission control protocol / Intranet protocol  

C. Transmission control protocol/ Inter protocol     

D. Transmission control protocol/ Inline protocol 

19. ------------------- ,d izksVksdkWy ugha gSA 

…………. is not a protocol . 

A. TCP/IP    B. HTTP 

C. FTP    D. FTT 

20. ---------------- ,d osc czkmtj ugha gSA 
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……..... is not a Web browser. 

A. Internet explorer  B.  Chrome 

C. Opera    D. Team viewer 

21. 1 xhxkckbV ¾ ------------- dsch A 

1 Gigabyte = ……… KB.  

A. 1048576 KB   B. 2048576 KB 

C. 1040006 KB   D. 256 KB 

22. ,d ohfM;ks esa ------------ dk ,d Øe gksrk gSA 

A video consists of a sequence of ------------ 

A. Frames    B. Signals 

C. Packets    D. Slots 

23. ¶ykWl dk eryc ------------------------------- gSA 

FLOSS Stands for ……………. 

A. Free linux open source   

B. Free/Libra open source 

C. For Linux open source   

D. Free License open source software 
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24. OSI  esa ---------------------- ijrsa gksrh gSaA 

OSI have …………….. Layers. 

A. 5     B. 6 

C. 7     D. 8 

25. 8086 ----------------------- dk loZj iksVZ gS A 

8086 is a server port of …………… 

A. Apache Server   B. IIS Server 

C. Both A and B   D. None of these 

26. DVD dk vFkZ --------------------------------- gSA  

DVD Stands for ……………….. 

A. Digital video Disc  B. Digital versatile Disc 

C. Both A and B   D. None of these 

27. ---------------loZj ts,lih vksj loZysV dks ifjfu;ksftr djrk gSA 

…….. Server deploy JSP and Servlet. 

A. ITS     B. Tomcat apache 

C. Window Server   D. Linux Server 

28. fMQkWYV vkbZih irk--------------------------- gS A 
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Default IP address is ……….. 

A.192.168.0.1   B. 191.168.0.1 

C. 192.173.0.1   D. 195.168.0.1 

29.   VsyusV ,d --------------- gS tks vkidks nwjLFk daEiw;Vj dusDV djus dh vuqefr nsrk 

gSA  

    Telnet is a --------- that allows you to connect to remote compute. 

A. Process 

B. Protocol 

C. Program  

D. A Script 

30. ;fn ge ,d vn~forh; rRo ds fy, ’kSyh dks ifjHkkf"kr djuk pkgrs gSa] rks ge 

fdl lh,l,l p;udŸkkZ dk mi;ksx djsaxs \ 

If we want define style for an unique element, then which CSS 

selector will be use ? 

A. Name    B. Class 

C. Text    D. Id 

31.  ,d ckbV ----------- ds cjkcj gksrk gSA  

   One bytes equals to……………. 
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A. 8 bits    B. 6 bits 

C. 12 bits    D. 10 bits 

32. 2 VsjkckbV ------------------ esxkckbV ds cjkcj gS A 

2 Terabyte is equal to ………… megabytes. 

A. 2e+6mb    B. 8e+12mb 

C. 8f+12mb    D. 8e+16mb 

33. 100 thch ----------------- dsch ds cjkcj gS A 

100 GB is equal to ………… kb. 

A. 1e+8    B. 1e+4 

C. 1e+16    D. None of these 

34. l= nh{kk izksVksdkWy ¼,lvkbZih½ cgqr -------------------- gSA  

Session intiation protocol (SIP) is very……… 

A. Independent  

B. Felexible 

C. Dependent   

D. Complex 

35. MPEG dk mi;ksx ------------ dks laihfM+r djus ds fy, fd;k tkrk gSA 
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MPEG is used to compress………………… 

A. Frames    B. Images 

C. Audio     D. Video 

36. buiqV fMokbl ---------------------------- gSA  

INPUT device is …………….. 

A. Joy Stick     B. Camera 

C. Mic     D. All of the above 

37.     RJ45 ,d izdkj dk dusDVj gS tks vkerkSj ij -------------------------- ds fy, mi;ksx 

 fd;k tkrk gS A 

RJ45 is a type of connector commonly used for …… 

A. Wireless networking   B. Mobile networking 

C. Ehernet networking   D. Wifi networking 

38. RAM dk vFkZ --------------------------- gS\ 

RAM stands for……………. 

A. Random Access Memory  B. Runtime Access Memory 

C. Read Access Memory   D. None of these 

39. CSS  dk eryc ---------------- gSA 

CSS Stands for…………………. 
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A. Cascading Style sheet  B. Current Style sheet 

C. Countable Style sheet  D.None of these  

40. MhVhMh dk eryc ------------------------------- gSA 

DTD Stands for…………………………. 

A. Document Type Definition  B. Design Type Definition 

C. Both A and B    D. None of these 

41. fdl o"kZ HTML dks igyh ckj ----------------- izLrkfor fd;k x;k gSA  

The Year in Which HTML was first proposed …………… 

A.1990     B. 1980 

C. 2000     D. 1995 

42. <b> VSx ds vfrfjDr] dksu lk vU; VSx VsDLV dks cksYM cukrk gSA 

A part from <b> tag, which other tag makes text bold ? 

A.<fat>      B. <Strong> 

C. <Black>     D. None 

43. oscist 'kq: djus ds fy, HTML VSXl dk lgh Øe gS & 

The Correct Sequence of HTML tags for starting a webpage is- 

A. Head, Title, HTML, Body   B. HTML, Body, Title, Head 
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C. HTML, Head, Title, Body   D. HTML, Head, Title, Body 

44. ckWMh VSx vkerkSj ij --------------------- ds ckn iz;ksx fd;k tkrk gSA 

The BODY Tag is usually used after…………… 

A.HTML tag    B. Head tag 

C. Title tag     D. None 

45. HTMLesa ykbu czsd Mkyus ds fy, fuEu esa ls dkSu lk VSx iz;ksx fd;k tkrk gSA 

Which of the following tag is used to insert a line-break in HTML? 

A. <br>     B. <P>  

C. <Pre>     D. <b> 

46. fdl o"kZ SGML  dks ----------------- izLrkfor fd;k x;k Fkk \ 

The Year in which SGML was Proposed …………. ? 

A.1990     B. 1986 

C.  2000      D. None 

47. D;k gksxk ;fn Qksj ywi ds fy,@ywi dk 'kjhj ,d ,slh laifŸk dks gVk nsrk gS 

ftls  vHkh rd ,U;wejsV ugha fd;k x;k gS \ 

What will happen if the body of a for / in Loop deletes a property that

 has not yet been enumerated? 
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A. The Property will be stored in a cache 

B. The loop will not run  

C. That Property will not be enumerated 

D. The Property will be enumerated 

48. uhps fn, x, Key 'kCnksa esa ls dkSu lk ,d dFku ugha gS \ 

Among the Keywords below, which one is not a statement ? 

A. debugger    B. with  

C.  If       D. use strict 

49. D;k vki ,d pj ds fy, ,d vuke QaD’ku vlkbu dj ldrs gSA 

Can you assign a anonymous function to a variable ? 

A. Yes      B. No 

C.  Invalid Question   D. None  

50. dkSu lh fcYV&bu fof/k la[;k ds eku dk fLVªax izfrfuf/kRo ykSVkrh gS\ 

Which built-in method returns the string represenatition of the 

 number’s value ? 

A. to value ( )     B. to Number ( ) 

C. to string ( )     D. None 



17 
 

51. vxj ge ,d Nfo ds pkjksa vksj ,d vPNh fn[kus okyh gjh fcanhnkj lhek dk 

 mi;ksx djuk pkgrs gSa] rks ge fdl lh,l,l fo’ks"krk dk mi;ksx djsaxs \ 

If we want to use a nice looking green dotted border around an 

 image, which CSS property will be use ? 

A. Border- color    B. Border – decoration 

C. Border – Style    D. Border - line 

52. ge CSS dksM ds lkFk desaV dSls fy[k ldrs gSa \ 

How can we write comment along with CSS code ? 

A./* a comment */   B. // a Comment // 

C. / a comment /    D. <‘a comment’> 

53. vki lHkh vuqPNsn elements dks jax esa ‘RED’  dSls cuk,axs \ 

How will you make all Paragraph elements ‘RED’ in color ? 

A.P. all {color; red;}   B. P. all {color; #990000;} 

C. all. P {color; #998877;}  D. P {color; red; } 

54. fMQkWYV :Ik ls gkbijfyad ,d vaMjykbu ds lkFk iznf’kZr gksrs gSaA vki CSS 

 dksM dk mi;ksx djds lHkh gkbijfyad ls js[kkadu dSls gVkrs gSa \ 
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By default Hyperlinks are displayed with an underline. How do you 

 remove the underline from all hyperlinks by using CSS code? 

A. a {text: no- underline; }   

B.a{text – decoration: none} 

C. a { text – style: no- underline;}   

D. a { text- decoration: no- underline;} 

55. 500 J̀a[kyk dksM bafxr djrk gSA 

500 Series code indicate. 

A. Client code indicate    B. Server Side 

C. Redirection     D. Success 

56. lcls izfl) HTTP izfrfØ;k  

The most famous HTTP response. 

A. 400      B. 404 

C. 405      D. 408 

57. fuEu esa ls dkSu ,d izhiSdsTM loZj LVsd ugha gS A 

Which of the following is not a Prepackaged Server stack ? 

A. WAMP     B. XAAMP 

C. MAMP      D. NAMP 
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58. fuEufyf[kr esa ls dkSu czkmtj ds ,d Hkkx ds :Ik esa Lokpkfyr :i ls yksM vkSj 

 lapkfyr gksrk gS \ 

Which of the following are automatically loaded and operates as a 

 part of browser ? 

A. Add – ons     B. Plug – ins 

C. Utilities      D. Widgets 

59. ekbØksMsVk ekWMy esa uke & ewY; tksM+s ds lewg gksrs gSa ftUgsa --------------- ds :i esa 

 tkuk tkrk gSA 

The microdata model consists of groups of name –value pairs known 

 as ……………. 

A.Item      B. Property 

C. Value      D. URL 

60. fMQkWYV :i ls] vkbZvks,l vkbdkWu esa -------------- izHkko tksM+rk gSA 

By defalult, iOS adds ………… effects to icons. 

A. Reflective shine    

B. Square corners 

C. Rounded Corners & Reflective Shine  

D. Apple trademark 
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61. QsfodkWu ds fy, fdl fo’ks"krk dk mi;ksx fd;k tkrk gS \ 

Which attribute is used for favicon ? 

A. icon     B. title  

C. rel      D. head 

62. Qk;jQkWDl esa dkSu lk Nfo Qkby Lo:i lefFkZr ugha gS \ 

Which image file format is not supported in Firefox ? 

 A. MNG     B. PNG 

 C. SVG      D. APNG 

63. tc vki mu iafDr;ksa dks 'kkfey djuk pkgrs gSa ftuesa esy[kkus okys eku ugha gSa]

 rks fdl izdkj ds tqM+ko dh vko’;drk gS\ 

What type of join is needed when you wish to include rows that do 

 not have matching values ? 

A. Equi – Join     B. Natural Join 

C. Outer Join    D. All of the Mentioned  

64. cwfy;u chtxf.kr esa] MsVk lwpuk dk ,d fcV&izfrfuf/kRo gS] ftuesa -------------- gksrs 

 gSaA 
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In Boolean algebra, the data is a bit- representation of information 

 consists of ………… 

 A.  0 and 1       B. 2 and 5 

 C. 1 and 15      D. 4 and  

65. SQL loZj esa eq[; :i ls fdrus izdkj ds O;w gksrs gSa \ 

SQL Server has mainly how many types of views ? 

A. One     B. Two  

C. Three     D. Four 

66. NOR xsV ----------------- ls izkIr fd;k tk ldrk gS A 

A NOR gate can be derived from ………….. 

A. NANA gate   B. XOR gate  

C. AND gate    D. OR gate 

67. XML nLrkost esa fVIi.kh fdlds }kjk nh tkrh gSA 

Comment in XML document is given by  

A.<?-- -->      B. < !-- -- !> 

C.< ! -- -->      D. </-- --> 

68. iw.kZ :is.k XML MD;wesaV dk vFkZ gS \ 
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Well formed XML document means ? 

A.It Contains a root element 

B.It Contains an element 

C.It Contains one or more elements 

D.Must Contain one or more elements and root element must  

 contain all other elements. 

69. usVodZ esa HTTP lalk/ku fdlds }kjk fLFkr gksrs gSa \ 

In the network HTTP resources are located by  

A.  Uniform resource identifier 

B. Unique resource Locator 

C. Unique resource identifier 

D. Union resource Locator 

70. Mh,plhih ¼Mk;usfed gksLV dkWfUQxjs’ku izksVksdkWy½ DykbaV dks --------------- iznku

 djrk gSA 

DHCP (Dynamic Host Configuration Protocol) Provides ………….. to 

 the client. 

A. IP address    B. MAC address 

C. URL     D. None of the mentioned 
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Section -B 

Short Answer Type Questions

iz’u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA        (10x2=20) 

Question no. 1 to 20 are Short Answer Type. Answer any 10 

questions. Each question carries 2 marks.   (10x2=20) 

1- XOR vkSj AND xsV dks ifjHkkf"kr dhft,A     2 

Define XOR and  AND Gate. 

2- cSaMfoM~Fk vkSj MsVk VªkalQj nj dh O;k[;k djsaA    2 

Explain bandwidth and data transfer rate. 

3-  th,l,e vkSj lhMh,e, ds chp varj ------------    2 

Defferentiate between GSM and CDMA. 

4-  oSdfYid dqath vkSj izkFkfed dqath dks ifjHkkf"kr djsaA   2 

Define Alternate Key and Primary Key. 

5- Vhlhih@vkbZih dks le>kb,A       2 

Explain TCP/IP. 

6- DykabV loZj ekWMy dks ifjHkkf"kr djsaA    2 

Define client server model. 

7- fjdkWMZ@Vqiy dk o.kZu djsaA       2 

Describe Record/ Tuple. 

8- vksiu lkslZ vkSj Ýhos;j lkW¶os;j esa D;k varj gS \    2 
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What are the differences between Open Source and Freeware 

software. 

9- fdUgha rhu :ikarj.k dk;ksZa dh O;k[;k dhft,A    2 

Explain any three Conversion function. 

10- MAN vkSj WAN ds mi;kssx dk o.kZu dhft,A    2 

Describe the use of MAN and WAN. 

11- dqdht dks le>kb,A        2 

Explain Cookies. 

12- Mh,Vh Mªkbo dks ifjHkkf"kr djsaA      2 

Define DAT drive. 

13- 8086 iksVZ dks ifjHkkf"kr djsaA       2 

Define 8086 Port. 

14- fnukad vkSj le; ls lacaf/kr fdUgha rhu dk;ksZa s (function) dh O;k[;k djsaA 2 

Explain any three date and time related function. 

15- MsLdVkWi dks vuqdwfyr djus dk vFkZ le>kb,A    2 

Explain the meaning of Customizing desktop. 

16- gkbijfyad dk mi;ksx D;k gSA       2 

What is the use of hyperlinks ? 

17- eYVhehfM;k esa izLrqr lwpuk dk D;k izHkko gksrk gS \   2 

What is the impact of information Presented in a multimedia ? 
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18- os dkSu ls {ks= gS tgk¡ eYVhehfM;k rRoksa dk mi;ksx fd;k tkrk gS\ 2 

What are the areas where Multimedia elements are used ? 

19- IPv4 dks ifjHkkf"kr djsaA       2 

Define IPv4. 

20- Session D;k gS \        2 

What is Session ? 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz’u gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd 

ds fy, 5 vad fu/kkZfjr gSaA       (3x5=15) 

Question no. 21 to 26 are Long Answer Type. Answer any 3 

questions. Each question carries 5 marks.    (3x5=15) 

21- VkWedsV vikps baLVkys’ku dh izfØ;k dk o.kZu djsaA 

Describe the process of Tomcat Apache installation. 

22- fuEufyf[kr MsVk izdkjksa dks muds vuqiz;ksxksa ds lkFk le>k,¡A ¶yksfVax ikWbaV] 

cwfy;u] fnukad] eqnzk] izdkj (Varient) 

Explain the following data types with their application; Floating Point, 

Boolean, Date, Currency, Varient 

23- vLirky dh osclkbV ds fy, ,d fLFkj osc ist ¼gkse½ cukus ds fy, HTML 

dksM ¼vkSj ;fn vko’;d gks rks fLØIV½ fy[ksaA 

Write HTML codes (and script if necessary) to create a static web page 

(Home) for a Hospital website. 

24- loZj ij vkWCtsDV ekWMy lajpuk DykabV dks ifjHkkf"kr djsaA  
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Define object model structure client to server. 

25- While….. wend vkSj Do ywIl dks ,d mnkgj.k  ds lkFk le>k,aA 

Explain the While ….. Wend and Do loops with an Example.  

26- fu;a=.k lajpuk Do …..WHILE…. LOOP ds dkedkt dh O;k[;k djsa mnkgj.k 

ds lkFkA 

Explain the functioning of control structure DO … WHILE.. LOOP with 

Example. 


